Molarity ~ Practice Problems

Name

KEY

Directions: Complete the table. SHOW ALL WORK ... SHOW ALL WORK ... SHOW ALL WORK ... SHOW ALL WORK!!!

—

“Tame Calcium iodide | Sodium chloride Potassium Aluminum Glucose Sulfuric acid
Sample carbonate hydroxide
Formula Cal, i - :
Electrolyte Electrolyte . k , ) non —
or Electro \j Eled‘ﬂ)\vk Eled.ro’ le. h Elechpl le
Non-electr. j E léd‘fby e j
TIons in Solution Ca'? 21! . 1— r 72— ) Al N
aion, niony | N I RK, €037 A3t 30 N PHT S04
0.25mel 1 138:219 090 mol) 78.919 | 0.30moies|iB0.1§
M I 10.0 5.85 —+‘— 4 - 25.0
Solute ; = imofl — timeT | o e
70q m(oD) (54q C,H,0.)
nNacl| Imol |
Moles of 10.0 g x 285 l.m.q 0.25 mole 0.30 mole 2504450 [mp
Solute (1 mole / 293 g) il AL 98.0
=0.034mole | (0.100 mol Nadl 0.255mel)’
50 L.
Volume of 750.0 mL legO mL 0 1\2.39,0 mlL O&R} e&oj'o mL
Soluti
gl 0.1000 L @ 1,2.000'1- 200 mL. 0.5000 L_
104 mel L
Molarity of 0.034 moles / ¥ 2 :000 G 0.50 M 0.75M 1.5M M= O'ngm
Solution 750L= - 0.50M= 0.25m0 0.15M= X 15 M= 0.30 Q5000
e L (.2000 % M= 0.510M
Molarity of 1x.045M= | ! X LOIM= | 2XxO0.50M = | { x 0.715M= 2% O.510M 1
Cati 0.045M
e = LoIM 1LOM 0.15M N/ A |02 M
Molarity of 2x.045M= [| x LOIM= \ x 0.50 = | 3x O.TSM 4 | % O.510M 3
Anion 0.090 M N/ A
1.0\ M 0.50'M 2.25M / 0.510M

e  SHADED BOXES: You must use the Molarity Formula ( M = moles / V) ) to solve for each.
o Follow the example in the first column to complete the rest of the table above.

Molarity Word Problem:

hat volume of glucose solution above would you need to use in order to prepare 500 mL of 0.55 M solution? SHOW WORK!
MI Vl - MZ— \/2.
1.5V, = 0.55° 0.5

M= 1.5M
Vy=?

V. = shoml = ©.500L

EpmmmmeESE
(vj=0.8L)
"




